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Instructions :

RAGA~

i)

ii)
iii)

Vi)

vii)

There are seven questions in all in

this question paper.

All questions are compulsory.

In the beginning of each question, it

has been clearly mentioned that

how many parts of it are to be

attempted.

Marks allotted to each question are

mentioned against it.

Start from the first question and go

up to the last question. Do not

waste your time on the question you

cannot solve,

Write the selution on the pages of

both sides of answer-book. Write the

steps of solutions le all questions
tion No. 1.

?;; ﬁf,ﬂﬁ‘iﬁspmce for rough work, do

it on left page of your answer hof:tk

and cross ( x ) the page. Do not write

the solution on that page.
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viii) pu not rub © o li
in a question @ *
write the steP® of constr
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ix) Draw neat an¢ =~ >
) solution of a questlon wherever

in its absence
necessa otherwise
the sar]}{;tion_ will be treated

incomplete and Wrong:
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Do all the parts :

Four alternatives of the answer of .each part
are given, out of which only one 18 correct.
Pick out the correct alternative and write it
N your answer-bogk :

Fj_‘_i

For any positjye integer P every
positive odd imﬂgm— will be of the form
i] P i “] p + 1

i) 2p iv) op + 1 1
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The points A ( ~ i
C(0, 3) arc the vertices of a trian
That triangle will be

i) Right angled triangle

ii} Isosceles triangle

iii) Equilateral triangle

iv) Scalene triang€ 1
The areas of twWO similar triangles arc
20 cm? and 45 cm> respectively. The

ratio of their heights will be

jj 20:45 @i} 9:4
i) 2:3 iv) 4:9 1
b )
If tan9=r2—23—§ , the value of cos 0 will
-b -
be
1 ) a’ - b2
] 11
) a’ + b2
] ﬂ2 + b* | ) 2ab ) )
i) —=—7= vl — 5
a®-b’ a2 +b°

The length of minute hand of a clock is
14 cm. The area swept by minute
hand in oneé minute will be

j 1026 cm? i) 1050 cm?

1ii) 10-75 cm? iv) 11-0 4::rn_2 1
For a Irequency distribution,  the
relation between mean median and
mode 1%

Modé€é = 3 Mean — 2 Median

3 mean

ii) Mode = 2 median —
I
n- 2 Ime

iv) Mod¢ = 3 median * 2 mean 1
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Do ali the parts :
ps PT

. 822(AY)

In the figure Pt ey and
1 e figure, S0 TR
/PST = £PRQ. prove that APQR is an

isosceles triangle- p

0 R
Find the yalue of
2300~ tan’ 45° .

5 cos260°+4seC

sin2 :30"+m::s2 30° '
ach of volume 64 cm
d to end. Find the surface
1

sulting cuboid.
omes of 50 workers of a

en in followin table :

3

Two cubes €
are joined €n
area of the re
The daily inc
factory arc iv

Find the lower iTmf?iﬁEfup
the modal class. 1
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3. Do
a)

.b}

& iy
X Q_y
. Y
+ 2 41=0, x—==
5t +1=U, X 1_3' 2

W-Wﬁaﬁﬂﬁuﬁaﬁrmfﬁaﬁ
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~ . 2 2
all the parts :
Prov i<
rove that ﬁ is an irrational number
2

Solve the follows
. W 1
by elimination Iigthsgst.e m of equations
x 2y | '
—t—t L=
2 3 0 y X — y— =3. 2

Find the ratig ;

the Jine I?lﬁ in which x-axis divides

_ A(-4 _SE%ment joining, the points
»~3)and B(5,2) 2
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9
e the
id i jrcular cones hav
B sohci! Iﬁgh}]‘;e radii of their bases
same height They are melted an
are and r,- cight.
re-cast into a cylinder of same

f the
dius of the base ©
Show that the 1a
2 +r22 2

cylinder is =5 -
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4. Do all the parts :

aj

b)

d)

Without performing the long division
Procedure show that the rational

Number 1351
1250

] terminating decimal.

2
Find the roots of Quadratic equation
3x? - 2J6x+2=0 by factorization
method. 2
If thﬁ points [_ a, 0 :'! ( D: b ) and
{1, 1) are collinear, prove that '
_1_ +.]_ =]. 2
a b '

In the figure, O is the centre of a circle.
fPQ=24cmand PR=7 cm, find the
area of shaded portion. 2
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tan 35° tan 40° tan 45° tan 50°tan55°= 12'

i) AABCH fag FC

30-40 40-50 \
10 5

4

]l the parts :
50 ‘ Showplgy graphical method that system

inear equations
o 0 d 3x+6y=12 has no

2x+4y=10 an

solution. - ‘ | 4
by Draw a triangle ABC 1n o which

Bc = 7 cm, /B = 45 . and

LA = 105°. Construct a triangle,

similar to triangle ABC, whose sides

are % times of the correspondiﬂg sides
of AABC. _ 4 |
¢) i Prove that .
tan 35° tan 40° tan 45° tan 50° tan 55°=1.
2.

— ndtan~
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11] In ,&ABC, prove that

B—I-C A
tan——=Cot—
n 7 5 - 5

d . .
] If th& arlthmﬂtllﬁ mcan Df thﬂ fDllOWlng

given table is 25, find the missing

frequency :
Class-interyal 0-10 10-20 - 20-30
Frequency 6 f 6

30-40 40.50 ]
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Do all the parts :

 (given J3=1-732)

.2(31'1131‘1

30.50 | 50-60 | 60-70 7
13 8 4
i F1d HIOTC L 4

tive value of k for
ns x> +kx+64=0
and x° - al
roots. _ 4
A man standing on the deck of a ship,
which is 14 metre above water level,

levation of the

observes the angle of e
top of a hill .as 60° and the angle of

of the base of the hill as

depression _
30°. Find the height of the hill and
distance of the hill from the ship.

Determine the posi

which the equatio
8x+ k=0 will have both re

4

A solid to¥ is in the shape of a
hemisph€r® surmounted by a right
circular cone. Height of this cone is
d the diameter of the base is

the volume of this toy. If a

4 cm. Find ‘
circumscribes

rcular cylinder

right ¢l

the toy, find the difference of volumes

of the C¥ linder and toy. .

( Take 7= 3-14) 4
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The marks obtaineq by the students of

=

clas ' \
ss N Mathematics are as

arks obtaineq |

Numbﬁr of

20-30 30-40 ‘1
| 1 \ 15 \

13 1 8 [7a |
4

Find the median.
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i) AABC wE TG fr :
AC = BC%‘] A5 AB? =?ACQ, ?ﬁ\fw
ﬁh‘q%gﬁﬁcwwwgl 3

Fadar
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forg ¥ fF LACB T ZABD.
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7. Do all the parts : _ _ _
a) A boat, whose speed 1n SUII’W&T_'EI' s
1 hour more tme to go

11
3

S km/hr, takes

12 km upstream than to retun
downstream 10 the same spot. Find
the speed of theostream‘ 6

of the roots of the

Find the nature
2x2~6x+3=0. If

quadratic ‘equation
the roots arc real, find them. 6
b) i) in the figure, if BD ] AC and
CE L AB, prove that
AAEC ~ AADB.
C
B 3
[ Turn over
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1}  AABC is an isosceles triangle in
which AC = BC. If AB*=24C°,
prove that AABC is a right triangle.

: 3

- OR

) In equilateral triangle ABC, whose
side is a , prove that its altitude is

a3
2 3

ii) The point D is on the side AC of
AABC such that ZACB = ZABD.
Prove that AABC ~ AADB. 3
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